JlomycTuMi 3HAaYEHHSA ajIireopaivyHoro BUpasy.
MuorouwieH. PopMyJid CKOPOUECHOT0 MHOKEHHA
IJe nompioHo emimu!
l.(a+6)*+(a—4)(a+4)=(a*+12a+36)+ (a®*—16)=a*+12a+36+a*— 16 =

= 2a’* + 12a + 20;
2.0-20+D-0-D*+G-»@+5)=0"-2y+3y-6)+(* -2y + D +

+(25-y*)=y*+y—-6—-y*+2y—1+25—-y? =—y?+3y +18;
3.4(c—3)%(c+3)?-3(c+4)(4—0)?*=4((c—=3)(c+3)?*-3l+0)4—-—c)4—0) =

=4(c?—-9)2—-3(16 —c®)(4 —c) = 4(c* — 18c%? + 81) — 3(64 — 16c — 4c®> + ¢3) =

= 4c¢* —72¢%> + 324 — 192 + 48c + 12¢% — 3¢® = 4c* — 3¢3 — 60c? + 48c¢ + 132.



